PERSOL

IN—YILR&D




1.
5
(1)
x*
< > 120 60 45 30kN
(2)
A5kN
3)

600NmM



ISO  ( )
ISO ( )




(1) ( )
120kN

(2) ( )

15kN

3) ( )

20

20



30km/h 1 1
15m 20km/h 1 1
30 60km/h 1 1
20km/h 4
- (5km/h) 4
1
) 30~60km/h
s = 30km/h L= 3.5m 1
< . 7
3 12
30km/h —
15
z}:. _/
Y, ) | | [, o)
30km/h | 3 I]HH I 30km/n ~  5km/h
10 e D 20km/h
BOSaERM 30~60km/h







100.0 130.0 100.0 ) 130.0
95.0 125.0 95.0 125.0
~~ ~~
~— ’Z'\ § —~
90.0 120.0 ¥ 90.0 120.0 é
85.0 115.0 85.0 115.0
80.0 110.0 80.0 110.0
75.0 \ 105.0 75.0 \- 105.0
70.0 100.0 70.0 100.0
10 15 20 5 10 15 20
— —— —
8.1 6.8 (20 )(
10.3kN 8.6kN (20 )( )




( )
100.0 70.0 100.0 70.0
95.0 \ 65.0 95.0 65.0
~ ~
~ ’2 § ~
90.0 60.0% 90.0 60.0 £
85.0 55.0 85.0 55.0
80.0 \ 50.0 80.0 50.0
75.0 - 45.0 750 45.0
70.0 40.0 70.0 40.0
5 10 15 20 0 5 10 15 20
—— —— - -
11.8 8.8 (20 )(
7.3KkN 5.2kN (20 )(




) ( )

100.0 70.0 1000 70.0
~ 90.0 60.0 ’\;90_0 60.0
~ 2 g, /Z-\

< X

85.0 55.0™ 85.0 55.0 ™~

80.0 50.0 80.0 50.0

75.0 45.0 250 45.0

70.0 40.0 70.0 40.0

65.0 35.0 - N 35.0

60.0 - 30.0 60.0 - 30.0

5 10 15 20 5 10 15 20
o —— —— ——
17.7 17.7 (20 )( )
8.4kN 8.0kN (20 )( )




100.0 100.0
90.0 90.0
80.0 80.0

~~
— 70.0 70.0 A~
zZ
~
60.0 60.0
50.0 50.0
40.0 40.0
30.0 30.0
20.0 20.0
10.0 10.0
0.0 0.0
0 5 0 5
L L )
4 1
N
60.3
18kN

100.0

90.0

80.0

~— 70.0

60.0

50.0

40.0

30.0
20.0

10.0

0.0

37.9
11.9kN

100.0

90.0

80.0

70.0

(kN)

60.0

50.0

40.0

30.0

20.0

10.0

0.0

10



(
100.0 - 70.0 100.0 0.0
95.0 65.0 95 0 65.0
90.0 60.0 S 90.0 60.0
2 < /' ~
85.0 55.0 85.0 55.0 ™~
80.0 0.0 80.0 50.0
75.0 45.0 75.0 45.0
70.0 40.0 70.0 WW 40.0
65.0 - 35.0 650 - 35.0
60.0 30.0 60.0 30.0
10 s 20 0 5 10 15 20
—— —— ——
8.9 8.4 (20 )( )
3.7kN 3.7kN (20 )( )

11



100.0 240.0 100.0 240.0
~~
_ 95.0 230.0 _ ~ 950 230.0
z — .
= =
90.0 220.0 90.0 220.0 =
85.0 210.0 85.0 210.0
80.0 200.0 80.0 200.0
75.0 \- 190.0 75.0 190.0
70.0 180.0 70.0 180.0
0 5 10 15 20 0 5 10 15 20
7.3 3.0 (20 )( )
16kN 6kN(20 )( )
600NmM

20

12



(1)
30kN 4

45kN 20
30 45kN

(2)

3)



2022/12/26

PERSOL

14



1SO ( )( )
(4 1)

20 ( 10 )

1SO ( )

120 (20 =6 )

1ISO (22.5%7.50)( )
24 (4 %6 )

275/80R22.5( M888)

24 (4 x6 )

15



il

AP 0T TH =Tk
(HE3zEo %)

T Al

— Wb (—HR75 3R , FERE)

@c::(1+2y)f|<5' Eo
R Y57
Rgi. Rgz -----
OFH: Eo
R_C]..‘\ Rgxz ......
Ud'd -VE0

RERHESD
U— gD
REREHE
B O HEE
e
201+v) 8

Rg1 RgzRg:Rga

lf

{IH

(




EDX-100A
DB-120T-8

SR20MW
TESIS00FUA(500Nm)
TEC250(350Nm)
7500QLE-N(750Nm)

17



EITELSE

—— TR

—— TR

Bihsk L

—==RiN Tk 3

L s

BihTke 7

Bt iThkE 9

[

— LR 2

e F S T

——RITETE G

— TR A

-y

—a— SETFRE A 1

- BhrE 2

it s 4

—=— BNk 6

—mee Bl 15 ¥R 8

Lliears R TH




130.0 100.0

)

_ 1250 _ 95.0
Z )
< <
120.0 90.0 =
115.0 85.0
r 110.0 80.0
. . 75.0
\)& o L 105.0

0 5 10 15 20

8.1 6.8 (20 )( )
10.3kN 8.6kN (20 )( )

19



No?2

105.0 r 80.0 105.0 80.0

100.0 75.0

~ 95.0 70.0
= 90.0 65.0 =
85.0 LQ"“”\ — W\-NM./\MWWJ 60.0
80.0 w\ v_-e-:-%m,._l. 55.0
e —
75.0 50.0
R 1
70.0 45.0
0 5 10 15 20
11.8 8.8 (20 )( )
7.3kN 5.2kN (20 )( )

20



No3

105.0 60.0 105.0 - 60.0
100.0 100.0
95.0 55.0 95.0
90.0 90.0
~ ~
~ 85.0 50.05 ~ 85.0 =
4 4
N’ N
80.0 80.0
75.0 | ' 45.0 75.0 |
70.0 70.0
65.0 65.0
60.0 60.0
55.0 55.0
50.0 50.0
45.0 45.0

8.4kN 8.0kN (20 )( )

21



100.0

90.0

80.0

70.0

60.0

50.0

40.0

30.0 |

20.0

10.0

0.0

10

15

- 90.0

- 80.0

- 70.0

- 60.0

- 50.0

- 40.0

- 30.0

- 20.0

- 10.0

20

60.3
18kN

- 100.0

(kN)

)

(

100.0

80.0
70.0

60.0

50.0

40.0

30.0 [

20.0 \\;\MI R
10.0

0.0

37.9
11.9kN

10

)(
)(

15

20

100.0

90.0

80.0

70.0

60.0

50.0

40.0

30.0

20.0

10.0

0.0

(kN)

22



No5

105.0 105.0 60.0
100.0 100.0
95.0 95.0 55.0
90.0 90.0
85.0 _ 85.0 -
— 50.0 5
80.0 80.0 <
75.0 75.0 L
a0 B 45.0
70.0 70.0 Wﬁ ;
65.0 65.0 -
2 P v Ses L 40.0
60.0 60.0
55.0 55.0
500 50.0 - 35.0

45.0

45.0 \

20

40.0

8.9 8.4 (20 )( )
3.7kN 3.7kN (20 )( )

23



(kN)

3.0
600NmM

20

(20

6kN(20

10

)(

245.0

235.0

225.0

(kN)

215.0

)(

15

195.0

- 185.0

20

G )

G )

24



